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FOREWORD

The report on the Candidates Item Response Analysis (CIRA) for the 2019
Advanced Certificate of Secondary Education Examination (ACSEE) in the
Geography subject has been prepared by the National Examinations Council of
Tanzania (NECTA). The report is aimed at providing feedback to different
education stakeholders including: students, teachers, parents, policy makers, and
the general public on the performance of candidates and the extent to which the
instructional goals and objectives were met.

The ACSEE marks the end of the two years of the advanced level of secondary
education. It is a summative evaluation which shows the effectiveness of the
education system in general and the delivery of the education system in particular.
Basically, candidates’ responses to the examination questions indicate what the
education system was able/ unable to offer to the students in their two years of the
Advanced Certificate of Secondary Education.

In this report, the analysis of each question has been done, and different categories
of information have been shown with figures and graphs. The analysis shows that
the factors that have contributed to the candidates’ ability to answer the
examination questions correctly and score high marks include the candidates’
ability to understand the demands of the questions, having the basic knowledge of
the subject matter, possess skills in computing and drawing, and good mastery of
the English language and essay writing skills. However, candidates with low scores
depicted contrary attributes.

The National Examinations Council of Tanzania believes that, this report shall
serve as the basis for enabling all educational stakeholders, including education
administrators, school managers, teachers and students, to identify proper measures
to take in order to improve candidates’ performance in future examinations
administered by the Council.

Finally, the National Examinations Council of Tanzania is grateful to all
examination officers and other stakeholders who provided valuable assistance in

the preparation of this report.

Dr Charles E. Msonde
EXECUTIVE SECRETARY
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1.0

INTROCUTION

The 2019 Advanced Certificate of Secondary Education Examination
(ACSEE) in the Geography subject was set according to the 2011
Examination Format which is based on the 2010 Geography syllabus. The
examination consisted of two papers, Paper One and Paper Two.

Paper One consisted of two sections, A and B. Section A had four (04)
questions from the following topics: Topographical Map Interpretation,
Simple Survey and Map Making, Field Research Strategies, and Photograph
Interpretation. The candidates were instructed to answer Question 1 and any
other question from the remaining questions making a total of two (2)
questions in this section. Section B had five (5) questions which were set
from the following topics: the Study of Soils, Water Masses, Dynamic Earth
and Consequences, Space Dynamic and Position, Behavoiur and Structure of
the Earth. Out of the five (5) questions, the candidates were required to
answer any three (3). As such, the candidates were required to answer a total
of five (5) questions in this paper.

Paper Two consisted of two sections; A and B. Section A had three (3)
questions which were set from the topics on Population and Development
and the candidates were required to attempt two questions. Section B had
five (5) questions set from the following topics: Agriculture, Livestock
Keeping and Management, Sustainable Use of Forestry, Environmental
Friendly Tourism, and Sustainable Fishing. The candidates were required to
attempt three questions in this section. Therefore, in this paper, the candidates
were required to attempt a total of five (5) questions.

This report analyses the 2019 performance of the school candidates who sat
for the ACSEE in the Geography subject. In the analysis, the performance in
each topic is ranked as weak, average, and good if the percentage of
candidates’ scores lies in the range of 0 to 34, 35 to 59, and 60 to 100
respectively.

A total of 46,489 candidates sat for the ACSEE 2019 in the Geography
subject, out of which, 46,036 candidates (99.52%) passed while, 224 (0.48%)
failed. Generally, the performance in 2019 improved by 0.34% compared to
that of 2018, in which, 99.18% of the candidates passed, and 0.82% failed.

This report provides an analysis on the performance of the candidates in each
question by showing what the candidates were required to do as well as the
strengths and weakness in their responses. Samples of the candidates’
answers are attached to illustrate their responses. It is expected that the report
will be useful to all educational stakeholders and will enable teachers and
students to improve the teaching and learning process in the Geography
subject.



2.0

ANALYSIS OF THE CANDIDATES’ PERFORMANCE IN EACH
QUESTION

The Advanced Certificate of Secondary Education Examination (ACSEE)
in the Geography subject is designed to test the candidates’ ability to
comprehend and apply knowledge in new situations, demonstrate analytical
and reasoning skills, interpret geographical phenomena such as physical
features, photographs and maps, and to draw conclusions from the
observations and interpretations. The questions required the candidates to
handle more of higher order tasks.

2.1 113/1 GEOGRAPHY PAPER ONE

SECTION A: Topographical Map Interpretation, Simple Survey and Map

2.1.1.

Making, Field Research Strategies and Photograph Interpretation

Question 1: Topographical Map Interpretation

This question consisted of seven parts in which, the candidates were
instructed to study carefully the map extract of Tabora (sheet 118/2)
provided, and answer the given questions. In part (a), they were supposed
to find the distance of railway line from Itulu (grid reference 837345) to
Tabora (grid reference 800456) kilometers. In part (b), they were to
calculate the area covered by seasonal swamps in square kilometer. In part
(c), they were to outline two methods which have been used to represent
the relief of the area, while in part (d), they were to identify six human
activities taking place in the area by providing concrete evidence from the
map; in part (e), they were to suggest the type of climate and provide
evidence from the map, and in part (f), to explain three factors which led to
the presence of seasonal swamps in the mapped area. The total marks
allocated for this question were 25.

Since the question was compulsory, therefore it was attempted by all the
candidates (100%). It followed that 38% scored from 15 - 25 marks, 50.4%
scored 9 - 14.5 marks, and 11.5% scored from 0 to 8.5 marks. The general
performance in this question was good since 88.4% of all the candidates
who attempted this question scored 9 marks and above. Figure 1
summarises the candidates’ performance in this question.



Scores
m0-85

9-14.5
m15-25

Figure 1: Trend of the Candidates’ Performance in Question 1

The candidates who scored from 15 to 25 marks showed good knowledge
of the topic of Topographical Map Interpretation, especially on the concept
of measurement of distances and areas. Furthermore, most of them used
correct methods used of showing the relief of the mapped area. They
interpreted economic activities taking place in the area, the types of climate
and conditions for the occurrence of seasonal swamps. In part (a), a big
majority of the candidates calculated the distance of the railway line from
Itulu grid reference 837345 to Tabora grid reference 800456 in kilometers
which was 12.0 — 13.0 km.

In part (b), the candidates were able to calculate the area covered by
seasonal swamps in square kilometers which was 34 km? These candidates
were able to apply correct formulae and procedures, whereby in the first
step, they counted the total number of squares as follow;

Complete squares =0,
Incomplete squares = 68/2,
Therefore, the total number of squares = 34.

In the second step they calculated the area of one square as follows:
The length of one side of square = 2cm and
Map scale = 1:50000
Therefore the area of one square = (side x side) or side’ = 1km x
1km = 1km?.
Finally they calculated the area which was 34 x 1 square = 34km®.



In part (c), they outlined two methods which have been used to represent
the relief of the area such as contours which are covering all over the map
and spot height as used at grid reference 816346 and 792387.

In part (d), they managed to identify six human activities taking place in the

area with concrete evidence from the map as:
crop cultivation due to the presence of scattered cultivation;
pastoralism due to the presence of veterinary center at grid
reference 805425; lumbering due to the presence of forest at
Noalikwa area; trade due to the presence of marketing
places, all weather roads and railway line; transport and
communication due to the presence of railway line, roads,
airport, radio tower, telegraph and telephone; fishing due to
the presence dam, rivers and seasonal swamps and tourism
due to the presence of antiquity, milestone and hills.

In part (e), they suggested the type of climate as tropical climate because
the area is located at 5° 5 from the equator, presence of seasonal swamps
almost all over the area and few rivers and streams, vegetation covers like
scrubs, scattered trees and woodland also presence of economic activities
like pastoralism.

In part (f), they were able to explain three factors which led to the presence
of seasonal swamps in the mapped area which are; relief, climatic
condition, nature of the rocks, nature of vegetation and type of the soil.

However, their marks varied from 15 to 25 depending on the strengths and
accuracy of their responses as some of the candidates did not get all the
items correct. Extract 1.1.1 is a sample of a candidate who performed well
on this question.
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Extract 1.1.1 represents a sample of a correct answer

The candidates who scored from 9 to 14.5 marks had several strengths and
weaknesses in answering this question. Some were able to provide correct
responses to some parts, while other parts were partially explained, and
some of the responses were incorrect. For example, in part (a), some of the
candidates in this group managed to identify the correct position of the
starting and ending points of the railway line according to the given grid
references, as such, they were able to measure the distance of the railway
line. Others could not read the grid references, and hence they failed to
identify the correct starting points as per the given grid references.

In part (b), some of the candidates did not manage to identify the correct
number of the incomplete squares covered by seasonal swamps, which led
them to get the wrong answer.

In part (c), a big majority of the candidates were able to outline two
methods which have been used to represent the relief of the area. Some of
them mixed up correct and incorrect methods, while others wrote the
incorrect methods.



In part (d), some of the candidates managed to identify six human activities
taking place in the area without giving any evidence from the map, while
others identified human activities with incorrect evidences from the map.

In part (e), some of the candidates managed to suggest the type of climate
but failed to provide evidence from the map.

In part (f), some of the candidates could explain at least two factors which
led to the presence of seasonal swamps in the mapped area, some of them
outlined the factors without any explanation, some failed completely to
respond to the question, while others provided irrelevant factors. The
variation of their marks was influenced by the strengths and weaknesses of
their answers.

The candidates who scored from 0 to 8.5 marks misunderstood some parts
of this question as they provided incorrect responses. For example, in part
(a), some of the candidates in this group failed to identify the correct
position of the starting and ending points of the railway line according to
the given grid references. As such they were not able to measure correctly
the distance of a railway line.

In part (b), many candidates in this group could not identify the correct
number of incomplete squares covered by seasonal swamps. This failure
led them to get incorrect answers, while others managed to get the correct
number of squares, but failed to convert them into the actual ground scale.

In part (c), some of the candidates were able to outline two methods which
have been used to represent the relief of the area, while some of them failed
to outline the methods. Additionally, others provided irrelevant methods
which were not used on the map.

In part (d), most of the candidates managed to identify the human activities
taking place in the area but could not give evidence to support their
answers. Others provided incorrect answers all together.

In part (e), some of the candidates were not able to suggest the type of
climate but provided some evidence of the responses. Others failed
completely to give correct answers.

In part (f), some candidates mentioned two factors which led to the
presence of seasonal swamps in the mapped area, some managed to
mention only one correct factor while, others provided irrelevant responses

10



which led them to score low marks in this part. In general, inadequate
responses led them to score low marks, and others not to score any mark.

Extract 1.1.2 is part of a response from a candidate who performed poorly
in this question.
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Extract 1.1.2 is a sample of incorrect answers to both parts (a) and (b)
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2.1.2 Question 2: Simple Survey and Map Making

The question had two parts; required the candidates in part (a) to analyze
the major procedures involved in drawing a sketch map by using survey
information. Part (b), required the candidate to describe four survey
marking equipment, and for each to explain its uses.

This question was highly avoided since it was attempted by only 0.5% of
all the candidates who registered for this subject. The general performance
in this question was poor as it was only 27.3% of the candidates who
attempted it scored 5.5 marks and above. The analysis of the data shows
that 8.4% scored from 9 to 15 marks, 18.9% scored from 5.5 to 8.5 marks,
and a big majority, that is 72.7% scored from 0 to 5 marks. Figure 2
illustrates the performance.

Scores
EO-5

55-85
m9-15

Figure 2: Trend of Candidates’ Performance in Question 2

The 8.4% candidates who scored from 9 to 15 marks managed to give good
introductions eg survey is the science of measuring and recording
distances, angles and height on the earth’s surface. In part (a), they
analyzed some of the major procedures for drawing a sketch map by using
survey information as:

Orientation to the area to be mapped and its content, choose

an ideal large scale in relation to the size of the area to be

mapped, rough out/put the framework on tracing paper and

lay it on the mapped paper, draw the backbone line

12



according to scale and fix other controlled lines along either
line of traverse or compass traverse, draw the in check lines
chosen between major points and check with measured data,
enter or draw details in position using the symbols, take the
pencil plan to the actual site and check for errors and if
satisfied, ink in details, erase framework lines and subject
the sketch map to the basic features of the map i.e. scale,
title, north direction and margin.

In part (b), they were able to describe four survey marking equipment and
their uses as:

Arrows are steel wires of 4mm in diameter and with 40cm
long, pointed at one end and the other end is bent into a
loop or circle for a coloured rag to be tied to increase
visibility. They are used for temporary marking points on the
ground or area; pegs are usually wooden pegs 40mmsquare
and 50cm long. They are used to mark positions
permanently during survey. Ranging roads are either
wooden or tabular steel poles of circular sections painted
with red, white and black bands usually, 2m, 2.5m or 3m
long and tipped with pointed a still shoe to enable them to
be driven into the ground. They are used to mark temporary
points which require to be seen and beacons are usually
cement prisms with side about 15 or more and 30cm long or
more. The final marking of survey work is done by using
beacons. They are used to mark the boundary of the
surveyed area on the earth.

Moreover, the candidates who scored 5.5 to 8.5 marks had variations in
responses in each part of the question. For example, in part (a), some of the
candidates were able to provide a correct introduction; they analyzed few
major procedures for drawing a sketch map by using survey information. In
part (b), they described three correct survey marking equipments with their
uses, while others described the chain survey equipments such as tape
measure, chain, and cross-staff without taking into consideration if they are
used for survey marking activities or not.

The candidates who scored from 0 to 5 marks provided weak responses.
For example, in part (a), some of the candidates in this group failed to
provide an introduction, and analysis of the major procedures for drawing a

13



sketch map by using survey information. In part (b), they described all the
equipment used in chain survey, among which three were correct. Some of
them provided partial introductions, incorrect procedures, and mixed-up
equipment used to measure distance and those which are used for marking
positions. As an example, one candidate wrote in part (a), scale of the map
to be used, and introduction of North direction and frame of the map, and
in part (b), he/she wrote chain and tape measure. Other candidates provided
incorrect answers to both parts (a) and (b). Extract 1.2.1 is a sample of such
a poor response in part (b).
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Extract 1.2.1 is a sample of incorrect responses

In extract 1.2.1 the candidate explained instruments used in chain survey
instead of survey marking equipment in part b.
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2.1.3 Question 3: Field Research Strategies

This question required the candidates to explain seven qualities of a good
research.

The question was opted by only 16.4% of all the candidates, out of whom
34.1% scored 9 to 15 marks, 43.1% scored 5.5 to 8.5 marks, and 22.8%
scored O to 5 marks. The general performance in this question was good
since 77.2% of the candidates who attempted it, scored from 5.5 marks and
above. Figure 3 illustrates the performance in this question.
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Figure 3 Trend of the Candidates Performance in Question 3

Most of the candidates who scored from 9 to 15 marks managed to provide
good responses. This revealed that the candidates had knowledge in the
qualities of good research. Some of the candidates provided good
introductions such as research is scientific and systematic search for
pertinent information on a specific topic. They explained the qualities of
good research as goal oriented, systematic, logical reasoning and logical
processes, empirical, inquisitive, selective, objective, cumulative, replicable
and ethical while; others were able to provide relevant introduction and few
qualities of a good research and their explanations. The variation of the
marks depended on the strengths and accuracy of their responses. Extract
1.3.1 is a sample of good responses.
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Extract 1.3.1 is a sample of a candidate’s good response

In extract 1.3.1 the candidate managed to provide a correct introduction,
explained seven qualities of a good research, and provided a relevant

conclusion.

19



The candidates who scored from 5.5 to 8.5 marks were somehow able to
meet the demands of the question. For instance, some managed to provide
introduction and insufficient explanations on the qualities of a good
research. Some of the candidates provided incomplete introductions and
mentioned qualities of a good research without explanations, while others
mixed up correct and incorrect answers. For example, one candidate wrote
on the qualities of good research that; should involve with primary and
secondary data, theoretic and different data collection methods.

The candidates who scored from 0 to 5.5 marks had insufficient knowledge
of the qualities of good research as they provided weak responses. For
example, some of the candidates gave incomplete introduction and failed to
give qualities of good research. Some of them failed to provide an
introduction, and mentioned points without explanations. Others provided a
good introduction but failed to explain the qualities of good research and
conclusion. For example, one candidate provided good introduction, but
failed to write the qualities of good research; evaluative, scientifically,
universality, should reach the conclusion and solve the problem.

Another candidate failed to give an introduction, but mixed up correct and
incorrect points, and with no supportive examples. This is what he/she
wrote on qualities of good research that: must define the topic to be defined,
inclusive, involve all methods of research data collection, managed in case
of cost, timely, problem selected must be researchable. Another candidate
wrote; must have simple language, short and clear, adequate appearance
of the research and define important terms used in the research. Another
one wrote; very inaccurate, cheap to conduct, less time consuming, less
expensive and it proves solution. Extract 1.3.2 represents a candidate who
failed to meet the demand of the question.
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Extract 1.3.2 represents a sample of a poor response

2.1.4 Question 4: Photograph Interpretation

In this question, the candidates were instructed to study carefully the
photograph given and answer the questions which followed.
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The question had nine parts; (a), (b), (c), (d), (e), (f), (g), (h), and (i). The
candidates were required in part (a), to mention the type of photograph; in
part (b), to identify the economic activities which are carried out in the
area; in part (c), to give factors which might have influenced the economic
activities in the area; in part (d), to identify the environmental problems
which the area is likely to face; in part (e), to mention the time at which the
photograph was taken and give reasons; in part (f), to comment on the scale
of production; in part (g), to name the crop shown on the photograph; in
part (h), to suggest the stage of production of the crop shown in the
photograph, and in part (i), to describe the relief features seen in the
photograph. The total marks allocated for this question were 15.

This question was among the highly opted for, since 83% of all the
candidates attempted it. Its general performance was good as 94.5% of the
candidates scored 5.5 marks and above. Further data analysis shows that
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46.9% of the candidates scored from 9 to 15 marks, 47.6% scored from 5.5
to 8.5 marks, and only 5.5% scored from 0 to 5 marks. Figure 4 illustrates
the performance in this question.

Scores
mO-5
55-85
m9-15

Figure 4: Trend of the Candidates’ Performance in Question 4

The candidates who scored from 9 to 15 marks showed good knowledge
and skills of the concept of photograph interpretation especially on the
types, components, and features of photographs. For instance, in part (a),
the candidates were able to mention the type of photograph as ground
photograph.

In part (b), some of the candidates were able to identify two economic
activities as; agriculture due to the presence of a sisal plantation and trade
due to the nature of the crop because sisal is a cash crop, and not a food
crop.

In part (c), they were able to provide the factors which might have
influenced the economic activities in the area as; presence of arable land,
means of transport, good climatic condition, relief, scale of production and
the crop itself is adaptive to wide range of soil type.

In part (d), most of the candidates managed to identify environmental
problems which the area is likely to face which are; soil erosion due to
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establishment of large scale farming and the use of large machines, loss of
soil fertility due to cultivation of single crop (monoculture), deforestation
and loss of biodiversity as the scale requires vast land clearance.

In part (e), most of them mentioned the time at which the photograph was
taken as noon because the shadow of the objects is at the center.

In part (f), they commented on the scale of the production as large scale
due to the presence of a sisal plantation covering the middle part to the
back. In part (g), they named the crop shown on the photograph as sisal.

In part (h), they suggested the stage of production of the crop in the
photograph as harvesting stage.

Lastly, in part (i), they described the relief features seen in the photograph
as plain (flat) land on the foreground and middle of the photograph and
hills/mountains on the left background. Their scores differed due to
variation in accuracy of their responses. Extract 1.4.1 is a sample of such
good responses.
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Extract 1. 4.1 is a sample of a good response

The candidates who scored from 5.5 to 8.5 marks scored well in some parts
of the question. For example, in part (a), some of the candidates were able
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to mention the type of photographs while others failed to do so. In part (b),
some were able to identify two economic activities and others mentioned
only one. In part (c), they managed to provide the factors which might have
influenced the economic activities and others failed to give correct answers.

In part (f), most of the candidates misconceived the question by giving
incorrect responses as they only explained the scale of the photograph
instead of scale of production. For example, one candidate explained the
scale of production as variable scale because in the fore zone there is large
scale but when can gone to middle and back zone are small scale so the
object are differ from fore to back. Few of them managed to answer it
correctly. In part (g), most of the candidates were able to give the correct
answer as sisal. In part (h), some of the candidates provided correct
answers and others incorrect answers. In part (i), some managed to write
only one relief features while others did not. Such inadequate responses
affected the candidates’ performance therefore they were unable to score
high marks.

The candidates who scored from 0 to 5 marks managed to answer correctly
on some parts of the question, but failed to answer other parts. For instance,
in part (a), some candidates mentioned the correct type of photograph,
while very few candidates mentioned the wrong type of photograph.

In part (b), they identified at least one economic activities while, others
provided irrelevant responses. In part (c), they managed to give one factor
which might have influenced the economic activities, while others failed
completely to attempt the question.

In part (d), they identified partially the environmental problems which
might face, while others provided the responses which were incorrect. For
example, one candidate wrote rapid population growth and environmental
pollution, while another one wrote: overgrazing and occurrence of drought,
another wrote it may lead into occurrence of volcanic eruption while,
others associated it with global warming while another candidate provided
environmental problems as poor transport system like roads and presence
of highlands like mountains and hills which hinder the process of
plantation agriculture.

In part (e), they mentioned the time at which the photograph was taken but
failed to give the reason for their answers, while others failed to identify the
right time. This led them to give the wrong reason. For example, one
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candidate mentioned that the photograph was taken in the morning due to
the presence of horizon and clouds, another mentioned morning due to the
presence of fog in the photograph, another candidate mentioned morning
because there is no any shadow and the sun was not yet risen, another one
mentioned mid night/evening this is because the shadow of the object is
under the object or the shadow seen is below the sisal, while another
candidate wrote dry season because there is an existence of sisal crop
harvested from the farm. This shows that they lacked knowledge and skills
on photograph interpretation.

In part (f), they were not able to comment on the scale of the crop
production. For example, one candidate commented the scale of production
as small scale because it covers a small area while another one provided
irrelevant answers such as; temperature, precipitation and types of rock.

In part (g), most of them managed to name the crop shown in the
photograph correctly, but there were those who provided wrong answers
such as cloves and cotton.

In part (h), most of them were not able to attempt the question correctly due
to misinterpretation of the stage of production as shown in the photograph,
whereby they provided stages of farm preparation instead of harvesting. For
example, one candidate wrote: prepare the farm as soon as possible,
prepare the small hole with appropriate 150cm to 200cm and take the
cotton spices from the tube and grow in the hole, another wrote the
cultivation of the farm, digging holes at interval distance from right, left
and forward and back and planting of sisal. Another candidate commented
on the stage of production as the mature stage because they produce flower
which produces the seed which is used to cultivate in another area, yet
another candidate commented on the stage of production as low stage of
production because there is poor production and management of sisal
production. Another candidate wrote that it is the processing stage whereby
it is not yet finished, another on wrote the stage of production as primary
stage of production, while another one commented on the stage of
production as the first stage.

Lastly, in part (i), some candidates described partially the relief features
seen in the photograph; while others could not understand the concept of
the relief features thus they provided wrong responses. For instance, one
candidate wrote plateau and basin, while another candidate wrote forest,
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plateau, spur and sky instead of plain and hills or mountains. Hence,
candidates’ marks varied due to their responses.

SECTION B: PHYSICAL GEOGRAPHY

2.1.5 Question 5: Study of Soils

This question had two parts (a) and (b). In part (a), the candidates were
required to examine six factors which cause the soil to lose its fertility. In
part (b), candidates were required to explain how soil texture and soil p"
influence farming. The total marks allocated for this question were 20.

The question was attempted for by 54% of all the candidates, of whom
31.5% scored from 12 to 20 marks, 51.9% scored from 7 to 11.5 marks and
16.6% scored from 0 to 6.5 marks. The general performance in this
question was good since 83.4% of the candidates scored 7 marks and
above. Figure 5 illustrates the performance in this question.

100 -
90 -
80 -
70 -
60 - 51.9
50 -

40 - 315
30 -
20 4 16.6

10 _J
0 T T T
0-6.5 7-11.5 12 -20
Scores

Percentage of Candidates

Figure 5: Trend of candidates’ Performance in Question 5

The candidates who scored from 12 to 20 marks showed a clear
understanding of the concept of soil, especially soil formation,
classification and fertility. In part (a), these candidates provided the correct
definition of soil fertility and loss of soil fertility. For example, they said
that soil fertility is the capacity or ability of soil to sustain plant growth and
loss of soil fertility is an act of the soil to lose nutrients which support plant
growth. They provided the factors which make soil to lose its fertility,
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including soil erosion, leaching, mono cropping, use of artificial fertilizers,
irrigation in arid and semi-arid area and destruction of soil structure.

In part (b), the candidates were able to explain how soil texture and soil p"
influence farming. This is what they said: soil p"” influences the
decomposition of the organic matters, soil p" leads to more soluble
minerals, thus leads to high leaching, sand soil being large textured, well
drained and aerated allows easy cultivation, sand soil being large textured
permit crop root to penetrate, fine textured soils tend to contain moisture
thus support the plant growth, fine textured soils tend to have high content
of nutrients which lead to less leaching and soil p" determines the selection
of type of crops to be grown. Variations in marks were influenced by the
accuracy of their responses. Extract 1.5.1 is a sample of a candidate’s
responses which met the demands of the question.
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Extract 1.5.1 illustrates a sample of correct responses

The candidates who scored from 7 to 11.5 marks were able to provide an
introduction and few points on the factors which cause the soil to lose its
fertility. For example, some of the candidates managed to provide the
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correct introduction of soil fertility and loss of soil fertility, but explained
incompletely the factors which cause the soil to lose its fertility. They also
gave few explanations on how soil texture and soil p" influence farming.
Some of the candidates provided few factors, but failed to explain how soil
texture and soil p™ influence farming. Others provided an introduction but
mentioned points without explanation. Such responses led their marks to
differ. For example, one candidate provided correct answers in part (a), but
in part (b), he/she explained types of soils such as clay, loam and sand
soils. Likewise, another candidate wrote that the absence of soil
permeability, soil depth, soil p™ and soil water in part (b).

Furthermore, the candidates who scored from 0 to 6.5 marks were
incompetent in attempting this question. Some of the candidates in this
category provided an incomplete introduction, and they mixed up correct
and incorrect answers. For example, one candidate wrote; bare of the land,
spray of strong chemicals and volcanism in part (a), while, in part (b),
he/she wrote rotation of crops and overgrazing. Some of them outlined the
factors and did not describe how soil texture and p" influence farming.

Some of the candidates in this group lacked knowledge of the concept of
soil fertility, soil texture, and soil p" as they supplied incorrect answers in
both parts (a) and (b). For example, one candidate in part (a) misconceived
the question by explaining the causes of soil erosion to be fire, drought and
deforestation, instead of the actual factors which cause soil to lose its
fertility. Another candidate wrote incorrect answers such as; unfavorable
climatic condition, deforestation, human activities, global warming and
vulcanicity as factors which cause soil to lose its fertility. This situation
made them not to score any mark. Extract 1.5.2 shows a sample of poor
responses.
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In extract 1.5.2, the candidate explained in part (a) of the question
properties of soil as soil structure, soil texture, soil porosity, soil colour and

———

Extract 1.5.2 shows a sample of poor responses

soil p™ instead of the factors which cause the soil to lose its fertility.
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2.1.6 Question 6: Water Masses

The question required the candidates to describe the hydrological cycle, and
show its link to underground water. The question had a total of 20 marks.

This question was highly omitted as it was opted for by only 16.9% of all
the candidates who were registered for this subject. Never the less, the
general performance in this question was good as 85% of the candidates
who attempted it scored 7 marks and above. Further analysis shows that,
49.4% scored from 12 to 20 marks, 35.6% scored from 7 to 11.5 marks and
15% scored from O to 6.5 marks. Figure 6 illustrates the performance in this
question.

100 -
90 A
80
70
60
50 1 35.6
40
30
20
10 -

Percentage of Candidates

0-6.5 7-11.5 12 -20
Scores

Figure 6: Trend of the Candidates’ Performance in Question 6

The candidates who scored from 12 to 20 marks had good knowledge of the
hydrological cycle and its link to the underground water. Some of the
candidates were able to give relevant introduction of the hydrological cycle,
and described its link to the underground water as follows; hydrological
cycle is a conceptual model that describes the storage and movement of
water between the biosphere, atmosphere, lithosphere and the hydrosphere.
They explained the processes of the hydrological cycle that are
evaporation, evapotranspiration, condensation, precipitation, surface run
off, infiltration and percolation and ended up with relevant conclusions.
Some of them managed to provide partial introductions, described correctly
the processes of the hydrological cycle with incomplete conclusion while,

37



others managed to give correct introduction and few processes of the
hydrological cycle with unsatisfactory explanations. The variations in their
scores were determined by the strengths and correctness of their
explanations. Extract 1.6.1 illustrates a sample of such a good response.
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Extract 1.6.1 is a sample of good responses

However, the candidates who scored from 7 to 11.5 marks showed a
moderate understanding of the concept of the hydrological cycle and its
process. Some of the candidates were able to provide an introduction of
hydrological cycle but provided incomplete descriptions of the processes of
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the hydrological cycle. Some were able to provide incomplete introduction,
few correct processes of the hydrological cycle and conclusions while
others did not manage to give an introduction but were able to describe the
processes and conclusion. Their marks varied because of variation in the
quality of their responses.

Furthermore, some of the candidates who scored from 0 to 6.5 marks were
able to provide an introduction but did not manage to describe any process
of hydrological cycle. As an example, one managed to provide a good
introduction on the hydrological cycle, but in the main body instead of
describing the processes of the hydrological cycle, he/she explained the
features resulting from surface run off such as; rills, gullies, earth pillars
and badlands. Some of them were not able to give an introduction but
described correctly few processes. Others managed to give incomplete
introduction and few processes of the hydrological cycle, but instead of
linking it with underground water, associated run-off water with
underground features in Karst regions. Variation in marks depended on the
strengths and weaknesses of their responses. Extract 1.6.2 illustrates such
pOOr responses.
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Extract 1.6.2 shows a sample of incorrect answer in question 6

A candidate in extract 1.6.2 explained the types and importance of
underground water instead of the processes of hydrological cycle and its
link to the underground water.
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2.1.7 Question 7: Position, Behaviour and Structure of the Earth

The question demanded the candidates to describe three zones of the
interior of the earth with the aid of a diagram. The total marks allocated for
this question were 20.

This question was attempted for by 56.2% of all the candidates, of whom,
54.6% scored from 12 to 20 marks, 40.3% scored from 7 to 11.5 marks, and
only 5.1% scored from 0 to 6.5. The general performance in this question
was good since 94.9% of the candidates who attempted it scored 7 marks
and above. Figure 7 illustrates the performance in this question.

5.1%

Scores

m0-65
40.3% 7-115
m12 -20

Figure 7: Trend of Candidates’ Performance in Question 7.

The candidates who scored from 12 to 20 marks had good knowledge of the
concept of internal structure of the earth. Most of the candidates in this
category were able to provide a relevant introduction of the structure of the
earth and described three zones of the interior of the earth. examples of
such answers are such as the interior of the Earth is consisted by three
concentric zones which are the crust, mantle and core. The crust
(lithosphere) is the upper most layer which is solid, thin and brittle, outer
shell is made of rocks. The mantle (mesosphere) is the central part of the
earth lying between the core and the crust and the core (barysphere) is the
inner most zone of the interior of the earth composed of iron and nickel.
They also drew a relevant diagram of the interior of the earth and ended up
with a relevant conclusion. Some candidates managed to provide an
introduction of the interior of the earth, explained partially the zones of the
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interior of the earth, drew correctly the diagram of the structure of the
interior of the earth, and gave relevant conclusions.

However, some of them provided incomplete introductions, but correct
descriptions of the interior of the earth, and drew the diagram of the
structure of the interior of the earth with correct and incorrect labels.
Additionally, others were not able to provide a correct introduction but
managed to describe the zones of the interior of the earth and a conclusion.
Despite scoring high marks, their marks varied due to the strengths and
weakness of their responses. Extract 1.7.1 demonstrate a sample of a
candidate’s good response.
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Extract 1.7.1 is a sample of good responses.

Furthermore, the candidates who scored from 7 to 11.5 marks had moderate
knowledge on the structure of the interior of the earth. For example, some
of the candidates managed to give correct introduction of the interior of the
earth; described incompletely the zones of the interior of the earth, drew
correctly the diagram of the interior of the earth, and wrote a relevant
conclusion. Some managed to give an introduction, described insufficiently
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the interior part of the earth, but were not able to draw a diagram of the
interior of the earth.

Moreover, the candidates who scored from 0 to 6.5 marks had little
understanding of the structure of the earth, especially the interior of the
earth. For example, some of the candidates could provide a correct
introduction of the interior of the earth, but were not able to describe the
interior part of the earth and they provided irrelevant conclusion. Some
managed to give an introduction only but failed to describe the interior part
of the earth and to draw a diagram of the interior of the earth. Others were
not able to provide an introduction of the interior part of the earth but
managed to describe partially the interior parts of the earth, without
conclusion. The variation in the marks depended on the strengths of their
responses.

Likewise, some of the candidates in this category failed to understand the
demand of the question; their responses suggested that the subject matter
was not clear to them. They provided an irrelevant introduction of the
interior of the earth, and failed to describe the interior parts of the earth.
Additionally they did not draw the diagram of the interior of the earth and
provided irrelevant conclusion. For example, one candidate explained about
interior of the earth as the earth is divided into horizontal and vertical.
He/she explained that in horizontal there is tensional and compressional
forces where by tensional forces is where layers meet and compressional
forces is where layers do not meet. Also he/she explained that vertical is
another zone of the interior of the earth where by in vertical there is
sinking where by materials from the surface use to sink downward in the
earth’s surface.

Moreover, he/she explained that in vertical there is cooling of materials
which have sink to the inner part of the surface. Another candidate
explained that the earth is geoid in shape proven by aerial photograph,
sunrise, sunset, lunar eclipse and circumnavigation of the earth. So this
shows that the earth is not actually spherical in shape. Furthermore, he/she
explained that the earth interior’s has the following zones; Troposphere
which is the zone found near to the earth, temperature increase as the
altitude increase and known as Lapse rate, Stratosphere is the zone found
near to the troposphere. The layer separating two zones is the Tropopause.
This layer temperature is low and the altitude is high, Mesosphere is the
zone which is near to the Stratosphere. The zone is colder, separated from
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Stratosphere by layer called Stratopause. Thermosphere is the zone where

the temperature is low because of increasing of altitude.
illustrates such poor responses.

Extract 1.7.2
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Extract 1.7.2 is a sample of a poor response

In extract 1.7.2 a candidate explained zones of the vertical structure of the
atmosphere and drew its diagram instead of explaining zones of the interior
of the earth and supporting the explanations with its diagram.
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2.1.8 Question 8: Space Dynamics

This question instructed the candidates to examine six consequences caused
by the depletion of the ozone layer in the atmosphere. The total marks
allocated for this question were 20.

The question was attempted for by 76.3% of the candidates, of whom,
44.7% scored from 12 to 20 marks, 50% scored from 7 to 11.5 marks, and
5.3% scored from 0 to 6.5 marks. The general performance in this question
was good as 94.7% of the candidates who attempted it scored 7 marks and
above. Figure 8 illustrates the performance in this question.
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60 - 50
50 4
40
30 +
20
10 A

Percentage of Candidates

0-6.5 7-11.5 12 -20
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Figure 8: Trend of Candidates’ Performance in Question 8

The candidates who scored from 12 to 20 marks showed a clear
understanding of the topic of space dynamic, especially in regard to the
concept of climate change. They were able to provide a correct introduction
of the ozone layer as the upper layer of the atmosphere above the earth
surface that contains a concentration of ozone sufficient to block, collect
and absorb harmful ultra violet radiation from the sun. They examined six
consequences of the depletion of the ozone layer in the atmosphere such as;
increased amount of ultraviolet radiation, diseases( skin cancer), global
warming, loss of biodiversity, climate change and destruction of valuable
materials(synthetic, polymers) and provided relevant conclusions.

Other candidates in this category defined the ozone layer, explained six
consequences without providing a conclusion while, others failed to define
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the ozone layer in the introduction but managed to explain six
consequences of the depletion of the ozone layer and a conclusion. Others
gave incomplete introduction but managed to explain six consequences
caused by the depletion of the ozone layer and provided a relevant
conclusion. Their marks varied because of differences in the quality of their
responses. Extract 1.8.1 exemplifies such good responses.
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Extract 1.8.1 represents a sample of a good response

The candidates who scored from 7 to 11.5 marks had moderate knowledge
and skills of space dynamic, specifically on climate change. Some
candidates in this category were able to provide the relevant introduction,
explained incomplete six consequences brought about by the depletion of
the ozone layer, and provided a conclusion. Some candidates were able to
provide a correct introduction, but then mixed up correct and incorrect
arguments on the consequences of the depletion of the ozone layer without
conclusion. For example, one candidate gave a correct introduction of the
ozone layer but provided irrelevant points such as pollution and movement
of large number of animals, while others gave incomplete introduction of
ozone layer and explained few consequences of the depletion of the ozone
layer and incomplete conclusion. Moreover, others failed to explain the
meaning of the ozone layer but managed to explain few consequences
brought about by depletion of the ozone layer and they provided a
conclusion. Therefore, the variation in their marks was caused by the
strengths and weaknesses of their responses.

Furthermore, the candidates who scored from 0 to 6.5 marks showed
shallow knowledge of the consequences of depletion of the ozone layer in
the atmosphere. Their responses showed that the subject matter was not
clear to them, especially in addressing the impacts of climate change. For
example, some of the candidates managed to give a definition of the ozone
layer, and explained incomplete few consequences of the ozone layer
depletion without providing a conclusion. Some candidates managed to
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explain only few consequences of ozone layer without an introduction and
conclusion, while others misinterpreted the question and their answers were
too general, shallow and incorrect. For example, one candidate explained
the contribution of the ozone layer depletion such as; it provides enough
oxygen, results into precipitation and provide good habitat for living
organisms instead of the effects of the ozone layer depletion. Extract 1.8.2
shows a sample of a poor response.
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Extract 1.8.2 shows a sample of a poor response

In extract 1.8.2 the candidate explained the significance of the ozone layer
instead of the consequences of the depletion of ozone layer.
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2.1.9 Question 9: The Dynamic Earth and Consequence

The question demanded the candidates to explain four factors for the
occurrence of earthquakes and give its four effects. The total marks
allocated for this question were 20.

The question was highly attempted as it was done by 96% of all the
candidates out of these, 50.6% scored from 12 to 20 marks, 44.5% scored
from 7 to 11.5 marks and only 4.9% scored from 0 to 6.5 marks. The
general performance in this question was good since 95.1% of the
candidates, scored 7 marks and above. Figure 9 illustrates the performance
in this question.
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Figure 9: Trend of the Candidates’ Performance in Question 9

The candidates who scored from 12 to 20 marks showed a clear
understanding of the occurrence and effects of the earthquake. Some of the
candidates were able to provide a correct introduction as Earthquake is the
shaking or vibration of the earth’s crust due to the sudden and rapid
displacement of rocks along the line of weakness. They explained four
factors for the occurrence of earthquake; plate tectonic movement,
volcanism, man’s influence and mass movement and its effects which are;
collapse of house and other structures, faulting and production of joints in
the rocks, tsunamis, rise or lower part of the sea floor and landslide. They
also ended up with relevant conclusion. Some of the candidates in this
category gave a correct introduction, described incomplete factors for the
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occurrence of earthquake, its effects and provided a conclusion. Some of
them provided incomplete introduction, explained correctly the factors for
the occurrence of earthquakes but gave few effects of earthquakes, with a
conclusion. Others gave a correct introduction, explained few factors for
the occurrence of earthquakes and their effects and incomplete conclusion.
Variation in their scores was influenced by the strengths of their
explanation. Extract 1.9.1 is a sample of such good responses.
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Extract 1.9.1 represents a sample of a good response

Moreover, the candidates who scored from 7 to 11.5 marks showed
moderate knowledge in the occurrence and effects of earthquakes. Some of
the candidates in this category were able to provide a definition of
earthquake, explained incompletely the factors for the occurrence of
earthquakes, their effects and provided a wrong conclusion. Some
candidates in this group managed to provide a correct introduction, but
failed to explain clearly four factors for the occurrence of earthquakes and
their effects. All the same, they gave relevant conclusions. Some were able
to define earthquake, describe factors for the occurrence of earthquake, but
failed to provide the effects of earthquakes. Others provided a correct
introduction, mixed up correct and incorrect points on the causes and
effects of the earthquakes. For example, one candidate wrote on the causes
of earthquakes as isostatic readjustment, gravitational force and on the
effects of the earthquake he/she wrote can lead to volcanism, atmosphere
pollution, earth can result into loss of lives/death. The other candidates
provided a definition of earthquakes, described few factors for the
occurrence of earthquakes and its effects and gave a relevant conclusion.
The quality of their responses was reflected in the scores of each candidate.

Furthermore, the candidates who scored from 0 to 6.5 marks showed little
knowledge of the occurrence and effects of earthquakes. Most of the
candidates in this group were able to define earthquakes but failed to
explain the factors for the occurrence of earthquakes although they
managed to explain one effect of the earthquake. For example, on the
factors for the occurrence of earthquakes one candidate wrote that:
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construction of the tall buildings, overgrazing, and deforestation but
managed to give one effect of earthquakes. Some candidates gave
incomplete definition of the earthquakes and provided few explanations on
the factors for the occurrence of earthquakes and their effects, while others
were able to give a definition of earthquake but mixed up correct and
incorrect answers. For example, one candidate provided incorrect effects of
earthquake as: occurrence of global warming and availability of building
materials due to the breaking down of rocks. Another candidate provided a
correct introduction but wrote incorrect points on factors for the occurrence
of earthquakes: movement of large number of animals, transportation
using heavy tracks, fire outbreak and outbreak of diseases. Some other
candidates wrote incorrect points on the effects of earthquakes including:
increase in temperature, construction of large dams, fire outbreak and
formation of feature e.g rift valley. This situation led them to score low
marks.

Likewise, there are candidates in this category who lacked knowledge and
skills in the factors for the occurrence of earthquakes and their effects.
They provided answers which did not meet the demands of the question.
Extract 1.9.2 represents a sample of a poor response in this question.
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Extract 1.9.2 is a part of a poor response
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2.2

113/2 GEOGRAPHY PAPER TWO

SECTION A: POPULATION AND DEVELOPMENT

This section consisted of three (3) questions which were set from the topic
of Population and Development. Candidates were required to answer two
(2) questions. Each question carried 20 marks.

2.2.1 Question 1: Population and Development

Candidates were required to discuss the statement, “Population is never
static, and rather it is dynamic.” This question had a total of 20 marks.

The question was attempted by 60.2% of all the candidates who were
registered for this subject. The general performance in this gquestion was
good because 80.2% of the candidates scored 7 marks and above. Further
analysis on this question shows that 11.7% of the candidates who attempted
it scored from 12 to 20 marks, 68.5% scored from 7 to 11.5 marks and
19.8% scored from 0 to 6.5 marks. Figure 10 illustrates the performance in
this question.

Scores

m0-65

7-11.5
m12-20

68.5%

Figure 10: Trend of Candidates’ Performance in Question 1

The candidates who scored from 12 to 20 marks showed good knowledge
of population change and the quality of life and hence they understood the
demands of the question. They were able to explain the factors for the
population change. For example, some of the candidates managed to give a
correct introduction of population as the number of humans occupying a
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certain geographical area at a specific period of time. They were also able
to give the determinants of population change such as: fertility, mortality
and migration, and in each determinant they explained their factors.

For example, one candidate wrote: fertility as a determinant of population
change is determined by age and sex at marriage, level of income, level of
education, use of contraceptives and religion and culture. Furthermore,
he/she explained that mortality as a determinant for population change is
determined by such factors as insufficient supply of nutrition, level of
infectious diseases, and quality of health care services, violence and crime.
He/she further explained that:

Migration as one of the determinants for population change

is determined by physical conditions such as nature of the

soil, hazards and relief; economic factors such as

employment opportunities; and social cultural factors like

social conflicts, forced marriage, entertainment, education

and health service and political factors such as civil wars

and political instability.

Some candidates defined population in the introduction, gave correct
determinants of population change, and explained incompletely the factors
for each determinant of population change. Others provided a good
introduction, few correct determinants of population change, and gave the
factors with incomplete conclusion. The variation in their scores was
determined by the strengths and correctness of their explanations.
Furthermore, the candidates who scored from 7 to 11.5 marks showed an
understanding of the demands of the question but were either not able to
provide the required number of points as the question demanded or mixed
up correct and incorrect answers. For example, some candidates gave a
relevant introduction, and explained incompletely the determinants of
population change such as; fertility, mortality, migration and their factors.
Some of them defined population in the introduction, gave few factors on
determinants of population change with incomplete explanations and a
conclusion. For example, one candidate mixed the factors for population
change with the contribution of overpopulation, he/she wrote; it stimulates
the development of science and technology, stimulates growth of towns and
cities, provide labour and it encourage the development of markets. Partial
explanations of the points affected their performance by scoring not more
than 11.5 marks.
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Moreover, the candidates who scored from 0 to 6.5 marks did not seem to
understand the demands of the question. Some candidates were able to
define population, and gave the general characteristics of population:
unevenly distributed, face various problems, being characteristics by age
and sex variation, being dynamic and dominated by variation in the level of
development. Some of them provided incomplete introduction, with
irrelevant points, and conclusion. For example, one candidate wrote;
development of science and technology, development of towns and cities,
modern production, improvement of transport and communication,
increase in the demand of production and development of defensive
mechanism answers which were not related to the demands of the question.

Another candidate explained the pull and push factors for population
growth, including: availability of social services, good transport and
communication, employment opportunity and climatic condition.

Besides, some of the candidates in this category did not manage to answer
the question according to its demand. Their responses showed that they
lacked knowledge of skills in population and development especially
regarding the concept of population change, hence they provided incorrect
answers which caused them not to score any mark. Extract 2.1.1 is a sample
of poor responses in this question.
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Extract 2.1.1 illustrates a sample of incorrect answer

In extract 2.1.1 the candidate wrote advantages of high population growth
instead of discussing the reasons on why the population is dynamic.
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2.2.2 Question 2: Population and Development
The candidates were required to describe eight population characteristics in
developing countries. The total marks allocated for this question were 20.

This question was opted for by 63.4% of all the candidates who sat for this
examination. The general performance in this question was good, as 73.2%
of the all the candidates who attempted it scored 7 marks and above.
Further analysis of this question shows that 26.9% of the candidates scored
from 12 to 20 marks, 46.3% scored from 7 to 11.5 marks and 26.8% scored
from 0O to 6.5 marks. Figure 11 illustrates the performance in question 2.

Scores
mO0-65

7-11.5
m12-20

46.3%

Figure 11: Trend of the Candidates’ Performance in Question 2

The candidates who scored from 12 to 20 marks understood the demands of
the question. They had good knowledge of the population structure, which
enabled them to describe correctly population characteristics in developing
countries. Some candidates in this category were able to give a correct
introduction of population as a number of humans occupying a certain
geographical area at a specific period of time. They provided a correct
description of population characteristics as; unevenly distributed the age
and sex structure, rapid population growth, high dependency ratio, low life
expectancy, under nutrition or malnutrition, lower per capital income,
predominance of agriculture and low level of industrialization and gave a
relevant conclusion.

Other candidates provided a definition of population in the introduction,
incomplete explanation of population characteristics in developing
countries, and a conclusion, while others provided a relevant introduction
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and few population characteristics of developing countries and a correct
conclusion. The variation in their scores was determined by the strengths
and accuracy of their explanations. Extract 2.2.1 demonstrates a sample of
a good response.
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Extract 2.2.1 is a sample of a good response

Moreover, the candidates who scored from 7 to 11.5 marks portrayed
moderate knowledge of the population structure. For example, some
candidates in this group were able to give the correct meaning of
population, described incomplete population characteristics and provided a
correct conclusion. Some of them gave incomplete introduction, few points
without explanations, and an incorrect conclusion. Others defined
population, mixed up correct and incorrect explanations on population
characteristics, and gave incorrect conclusion. Therefore, the variation in
their scores was caused by strengths and weaknesses of their answers.
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The candidates who scored from 0 to 6.5 marks showed little knowledge of
the subject matter of population and development, especially on population
structure. Some of the candidates in this category were able to give a
correct introduction, described incompletely few population characteristics
of developing countries and provided a correct conclusion. Some of them
defined population in the introduction but failed to describe population
characteristics in developing countries and provided a good conclusion. For
example, one candidate wrote; presence of crimes, outbreak of diseases,
unemployment, bad utilization of natural resources, climatic change,
environmental pollution, high rate of dependency and bad traditional
practice as population characteristics of developing countries.

On another note, the candidates who scored a 0 mark were not able to
answer the question according to its demands. For example one candidate
mixed up the characteristics of population with the problems associated
with population such as; unemployment, social crime, characterized with
diseases, lack of education, and increase in number of street children,
poverty and increase in prostitution. Another candidate wrote the impacts
of high population growth such as; improvement of social services,
increase in labour forces, raise in revenue, economic diversification,
dependence ratio, increase in social evils, loss of government revenue and
lack of employment instead of characteristics of population in developing
countries. Extract 2.2.2 demonstrates a sample of a response from the
candidate who failed to meet the demand of the question.
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Extract 2.2.2 demonstrates a sample of a response from the candidate who
failed to meet the demand of the question
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2.2.3 Question 3: Population and Development

This question had two parts (a) and (b). In part (a), the candidates were
required to describe the following terms as used in the study of population:
(1) optimal population (ii) life expectancy, and (iii) crude birth rate. In part
(b), they were required to describe five causes of high mortality rate in
Tanzania. The total marks allocated for this question were 20.

This question was attempted by 76.3% of all the candidates who sat for this
subject. The general performance in this question was good because 87.9%
of the candidates who attempted it scored 7 marks and above. Further
analysis in this question shows that 39.8% of the candidates scored from 12
to 20 marks, 48.1% scored from 7 to 11.5 marks and 12.1% scored from O
to 6.5 marks. Figure 12 illustrates such performance.

100 -
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60 - 48.1

50 4 39.8
40 -

30 -
20 - 121
PRl |
0 .
0-6.5 7-11.5 12-20
Scores

Percentage of Candidates

Figure 12: Trend of Candidates’ Performance in Question 3

Most of the candidates who scored from 12 to 20 marks showed an
understanding of the concept of population change, especially optimal
population, life expectancy, and crude birth rate. Their explanations were
well organized and focused. Some candidates gave correct explanations of
the terms used in population study such as; optimal population, life
expectancy and crude birth rate in part (a).

In part (b), they were able to define high mortality rate in the introduction
as the occurrence of death in a population and described five causes of
mortality rate in Tanzania such as; poor medical services, existence of
infectious and communicable diseases, presence of hunger and famine,

ignorance and poverty, cultural aspect, maternal complication and
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frequent accidents. These candidates provided relevant conclusions. Some
of them were able to describe incompletely the terms used in population
study, described correctly five causes of high mortality rate in Tanzania,
and provided a correct conclusion. However, their marks varied from 12 to
20 depending on the strength of their responses. Extract 2.3.1 is a sample of

a good response.
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Extract 2.3.1 Sample of a good response

Furthermore, the candidates who scored from 7 to 11.5 marks showed
moderate knowledge and skills of the subject matter, and were able to meet
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the demands of the question. In part (a), some of them gave incomplete
descriptions of optimal population, life expectancy and crude birth rate. In
part (b), they managed to give a correct introduction, explained
incompletely few causes of high mortality rate in Tanzania and provided
relevant conclusion. Some candidates were able to describe incompletely
few terms used in population study in part (a). In part (b) they gave the
meaning of mortality rate and described incompletely the causes of high
mortality rate in Tanzania. Others failed to explain terms used in population
study but gave few causes of high mortality rate in Tanzania but without
explanations.

Moreover, most of the candidates who scored from 0 to 6.5 marks provided
incomplete responses due to low level understanding of the subject matter.
They also misunderstood the demands of the question by providing correct
and incorrect responses. For example, some of the candidates failed to
describe the terms used in the population study in part (a). In part (b), they
managed to provide a relevant introduction, gave incomplete explanation of
the causes of high mortality rate in Tanzania but without a conclusion.

Others provided irrelevant causes of high mortality rate in Tanzania, with a
partial conclusion. One candidate wrote optimal population is the equal
number of death rate and birth rate in the society, crude birth rate refers to
the number of birth in a population per number of women child bearing 15
to 49 multiplied by 1000 or 100 in the population in part (a). Therefore,
he/she confused crude birth rate for fertility rate. In part (b), he/she failed
to define mortality rate as she/he wrote: is the number of death in children
under 5 years in a population which is obtained by taking her number of
birth rate per number of population multiplied by 1000 or 100.

Some candidates in this category scored 0 marks because they were not
able to provide correct responses as per the demands of the question. For
example, one candidate provided irrelevant definitions: crude birth rate as
death rate occurred for the child from 0 to 1 year of the population after
birth and optimal population is a group of people occurred in a certain
geographical area. In part (b), he/she failed to explain the causes of high
mortality rate, he/she wrote; lack of birth control, dying of children at
infancy stage, high demand of children to work in farms, religious beliefs
and regarding children as sign of wealth, ending up with irrelevant
conclusion. Extract 2.3.2 is a sample of such poor response.
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Extract 2.3.2 is a sample of poor responses

In extract 2.3.2 the candidate mixed up causes of high fertility rate for other
population phenomena.

SECTION B: Regional Focal Studies

224

This section consisted of five questions 4, 5, 6, 7, and 8 which were set
from the Regional Focal Studies topics. The candidates were required to
answer 3 questions. Each question had a total of 20 marks.

Question 4: Agricultural Development

With reference to oil palm farming in Nigeria, candidates were required to
describe four physical and human requirements for tree crops farming. The
total marks allocated for this question were 20.

This question was answered by 61% of the candidates who were registered
for this subject. The general performance in this question was good as 95%
of all the candidates who attempted this question scored 7 marks and above.
Further analysis shows that, 66.2% of the candidates scored from 12 to 20
marks, 28.8% scored from 7 to 11.5 marks, and 5% scored from O to 6.5
marks. Figure 13 illustrates this performance.
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Figure 13: Trend of Candidates’ Performance on Question 4

The candidates who scored from 12 to 20 marks accurately focused on the
question given. They were able to give a correct introduction, clear and
relevant explanations on physical and human requirements for tree crops
farming with reference to oil palm farming in Nigeria. Some of the relevant
responses given were; physical requirements:- high temperature over 21%,
well distributed rainfall over 2000mm annually, well drained soils wit
humus, relief well undulated land which is less exposed to strong winds ,
humidity. Human requirements include capital availability, transport
facilities, labour supply, efficient management, processing factories
improved science and technology, availability of market and government
support/policy.

Some of them provided a relevant introduction, partial description of
physical and human requirements for tree crop farming with clear
conclusion. Others provided a partial introduction, but were able to
describe correctly the physical and human requirements for tree crops
farming with relevant conclusion. The variation in their scores was caused
by the quality of the explanations and the total number of points provided
by the candidates. Extract 2.4.1 illustrates a sample of such good response.

75



Toe o o(ming Rreq to the aafoytus]

oy that Irvowe v g oyt by cubbet
Cocoa_oed palut ter Nfaefa {1 a wel deve [opbd

nafign fn 4 cluy gouming spudully ofl po |

atmiog_ wHich {1 cummanly undoftalen in oiar (it
rdomasn_#bly, Ondo ond ddu god oher port

Migfiq- ffpuf’r £lom Prdzﬂuana ofl palu toey pm&uc@

eofiiun to T clopy and fow mabefelt needed |

odw (et - With r?pprm fo il galu {-u{mfr\a the

ﬁoU@wlvq 0i¢ Phyilal g cho poi tede Uop! Mfmrq

in_Nigpq af Hmmr@& below !

kbundaok nlogal! and Mnr%;hm Fog DQM

taes b dovelop they need lu’r(r,t wato v A

fol qPNNMHm OF (i0pd o hdﬁ olam well ﬂdjf\f‘

of 1500wk limebory (mwi) to 2030 [mll}md-m)

76




Kahly needed {fot o' gd\wt {:O\m'l\ng bo take - The

prICre gt Wwolm ocean almpat! fow Atlaatie ocean

hot wede (+ pafibie £nt uinpall o be avgi \able

thoug ht Tre- yeai ih NigeRa heow deve kypm ent o

Sl polm FU!mTM i~ Yfqefq @

Mptenct op condudve tmpectup: Tvmm?m“uw

thould atleoit be froen al® Cerﬁfq(lde (a1’c) o as’e

ook gnde £ol faty Qmw% - dpd_the ﬁimpﬂﬁfdm hed

Migeha_guppotrithis - Nigoda ¢ pound) In Bouatslal

diwate ueai Hat equatst and hert Wat o Hu Huey

tonpuctup {1 W0l ard hecar Veadicg to dpuele meut
st 61 palw poiwbeg In Nfgedg

Pﬁwhd of f;eml@ or& wel dadeed KA meﬂf\‘f«

f bloyted to have well dathed ard Al dth o P-(J(lr"UJru

wWich fugoot palua tvey. foafte pble 1 o pratt e3 QG&O

giwate it beayy @inpall Hhat add urdiy e It a6

ard glio tome oo have ¢ Kplopad veicaude ucff\?Ht’! Lency

iy oCls- Brawgt of 000 with Fea{ 10 thl f.aw*co

Iouom ORI o N"Mq suth af Maqu apd |‘f\

lgbo land whoa lard fi Eotfte -

HMah |+um|ctN'r4 the atwoiphey © Foar

s Odo aed kb0 have \ame fomsts whith tupef

20 op o fanpiRtion actiffies to tobe pa and henes

cauhng hurddfty (n atwospusy Ladieq to ol MMWAM

% _falwr troe Fﬂil-wm} Peclw trves Uhuatlyy Dquie wh

ard here pOIOMU ap humidfty fr T by ol e
Cop forudng n Nipds e

Alio Jome pwuaau oc miefefal gact s o
led tve ey polwirg ofl palw In pofd e or, Tueh

pochen bndud |
Mpyoce q coodgh laboon . Nigefa {1 o

Mybly psyulated naFm btk gbout 100 milie ped

77




who Mot of How have jOHUco fn H (oducin pafd

tuch of o Iqbu land dher ou\uA trve § L(:L(W\}l\a fokes

place: tXDlMpU dwnno. e PIOMY X p(dam. up& Lawm'.

olot st peawe tudh 04 Norabe tRbe and labor peYide

L= =g

coromungl labor in pratuci Lerat boe orop poimily

In Nigofia-

G ‘l’(‘uMpu‘(\- ord cammd meakin ek wos by

fo nigefar Nigefla hal extentfve fetwotle of Rud)

erwam ard poks thigugh wWdh palw (1 mmmmp&

Howfafm 00or h frdurtlel towng- Exdwii@ alot

st ol pqlm fi touurpoGed fo Polt ltolcouid h) lndu i+

koons I Ibodan 0od Laodd wher & (1 wioeupocdumd

fubo pipfitud &l Lo devetmeut af toe crp polmicg
T AT

Ppiena o endupd Wagld - frlot o i~ 0

fn N\n?oQ depopd dn OFl pol m lla\qu £ot (BW

mcd-@:\ah Sovce pMU LN COMponieS mmo {ndt [HA0 ¢

\MQEP‘\ palw ulve aed ollo COQUM &l lodd fHA 0! f-GuNﬂ

a Laom degecd 00d buy palw Al oa—&ud‘s £OW_LO\MOA

turd_dew lagreat ~ Hlso “extomel walkeh gow Hup porfuk

fuly natog sudh ap fu\ﬁﬂ" \ﬂq‘, ord lcy Wad to devlogn

e ae fugh pmm";rc}

Ule o monHMc rechrologu - The utb toucton

plought o anpofing \auwP £0t auﬁﬂh“o\n ard gevary

% galt 48] ho pocmcw&) deveiopment g pal ey

petuar 10 b In_Wih quantity aed WA QUcdﬁ'ul wepep

dl’wlmnw.r) e ) psdun pojwidey to Mi s

ofl palwx coimicg and I—wo crop Foiieg {n

gousn| have bt teuendons fwoerocds o N

e conomn W 0 wc’mp eua( logwarud Ooom-UNHOJ to_panmen

whddlewon and WC'fb.HM \Mommmh in ™ palwa

poining_ard glo ¢ uap d. developmeut 3 o

Extract 2.4.1 Sample of a good response
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Furthermore, the candidates who scored from 7 to 11.5 marks were able to
understand the questions but failed to provide enough points according to
the requirements of the question. For example, some candidates managed to
provide an introduction, few points of physical and human requirements for




2.25

tree crops farming, with incomplete conclusion. Some of them gave
incomplete introduction, managed to write the required number of points
but mixed up correct and incorrect points and failed to provide a correct
conclusion, while others provided an irrelevant introduction, gave points
without explanations, and so ended up with unclear conclusions.

Moreover, the candidates who scored from 0 to 6.5 marks provided unclear
responses due to seemingly limited knowledge of the subject matter. Some
of them presented wrong points, not related to the demands of the question.
Others mixed up correct and incorrect answers. Some of the candidates in
this group failed completely to give correct answers as they did not
understand the demand of the question. For example, one candidate
explained the importance of forest as: provides habitat for small animals
prevents wind erosion, facilitates rainfall, source of energy in charcoal;
create income, used for manufacture paper and human needs instead of the
physical and human requirements for tree crop farming.

Question 5: Livestock Keeping and Management

The candidates were required to explain six contributions of the marketing
board and cooperative societies in Denmark towards the development of
dairy farming. The total marks allocated for this question were 20.

This question attempted by 58.2% of all the candidates who were registered
for this subject. The general performance in this question was good as 80%
of the candidates scored 7 marks and above. Further analysis in this
question shows that, 25.4% of the candidates scored from 12 to 20 marks,
49.7% scored from 7 to 11.5 marks, and 24.9% scored from 0 to 6.5 marks.
Further illustration of performance in this question is summarized in figure
14.
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Figure 14: Trend of Candidates’ Performance in Question 5

Most of the candidates who scored from 12 to 20 marks manifested an
understanding of the subject matter. They presented well their points with
good essay organization. They were able to give a correct introduction of
dairy farming: the raising of cattle for milk, which is consumed directly or
processed into cheese, butter or dried milk. They provided contributions of
the marketing board and cooperative societies in Denmark towards the
development of dairy farming as: looking for markets, quality control of the
products, provide credits to the farmers, storing products, research
services and advice to the farmers, make advertisement of the activities,
provision of education and also provided a relevant conclusion.

Some of the candidates provided good introductions with incomplete
explanations on some contributions of the marketing boards and
cooperative societies in Denmark, and ended with relevant conclusions.
Some of them were able to provide an introduction, few points on the
contribution of the marketing board and cooperative societies in Denmark
without relevant conclusions. Others were able to provide correct
introductions, explained six contributions of the marketing board and
cooperative societies with partial conclusion. Strengths and weaknesses of
their points caused their marks to differ. Extract 2.5.1 represents a sample
of such good responses.
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Extract 2.5.1 Sample of such good response

However, the candidates who scored from 7 to 11.5 marks revealed
moderate knowledge of and skills in livestock keeping and management.
For example, some were able to give correct introduction of dairy farming,
explained partially a few contributions of the marketing boards and
cooperative societies in Denmark without relevant conclusion. Some failed
to give a correct introduction of dairy farming, pointed out the
contributions, but failed to explain how the marketing boards and
cooperative societies contributed to the development of dairy farming in
Denmark, and provided relevant conclusion. Others managed to provide an
introduction, mixed up correct and incorrect answers on contributions of
the marketing boards and cooperative societies in Denmark towards the
development of dairy farming. The variation in their marks was due to the
strengths and weaknesses of their responses.

Similarly, the candidates who scored from 0 to 6.5 marks showed little
knowledge of the subject matter. For example, some of the candidates in
this category managed to give a correct introduction but failed to explain in
detail the contribution of the marketing boards and cooperative societies in
Denmark towards the development of dairy farming, and provided
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incomplete conclusion. Some of them gave a partial introduction of dairy
farming, managed to explain few points but failed to show how marketing
boards and cooperative societies contributed to the development of dairy
farming without relevant conclusions. Others were not able to give a
relevant introduction, but mixed up points and without a conclusion. For
example, one candidate mixed up the contributions of marketing boards
with the importance of the dairy farming in Denmark; employment
opportunity, increase in government revenue, facilitates the development of
transport and communication, development of other sectors, build strong
international relations and development of towns.

Another candidate had this to write: maintain international relation, leads
to growth of other sector like health, source of national income, improves
pastoralism and external markets while another one gave the general
factors as: increasing the national income, help to maintain the economy of
the country, help to build good relationships with other countries, help to
improve the living standard of the people and development of other sectors.

Additionally, the candidates who scored a 0 mark failed to provide relevant
definition of dairy farming, did not explain six contributions of the
marketing boards and cooperative societies in Denmark towards the
development of dairy farming, and provided wrong conclusions. For
example, one candidate wrote: improvement of transport and
communication, development of international relationship, source of
income, and development of other sectors like industries and provision of
experts.

Another candidate mixed up the contributions of marketing boards with the
contribution of agriculture: it stimulates the development of transport and
communication, proves employment, leads to the development of industries,
stimulates the development of science and technology, improves living
standard of people and provides foreign currency. Extract 2.5.2 shows a
response that failed to meet the demand of the question.
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Extract 2.5.2 shows a poor response

In extract 2.5.2 the candidate explained the importance of dairy farming
instead of the contributions of marketing boards, and cooperative societies

towards dairy farming in Denmark.
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2.2.6 Question 6: Sustainable Use of Forestry

The candidates were required to explain why timber harnessing is easier in
temperate countries than in humid regions by giving six points. The total
marks allocated for this question were 20.

This question was among the highly skipped by the candidates. It was
attempted by only 14.5% of the all candidates who were registered for this
subject. The general performance in this question was poor since only
26.1% of all the candidates who attempted it, scored 7 marks and above.
Data analysis in this question shows that a majority of the candidates
(73.9%) who answered this question scored from 0 to 6.5 marks, 20.5%
scored from 7 to 11.5 marks and only 5.6% scored from 12 to 20 marks.
Figure 15 illustrates performance in this question.
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Figure 15: Trend of Candidates’ Performance on Question 6

The few candidates who scored from 12 to 20 marks showed a clear
understanding of the concept of sustainable use of forestry especially on the
concept of timber production. For example, most of the candidates in this
category were able to provide a relevant introduction on timber harnessing
in temperate countries as follows: Timber harvesting refers to the
extraction of timber from the forest resources and temperate countries are
those counties with temperate forests like coniferous. They explained why
timber harvesting is easier in temperate countries than in humid regions by
giving six points such as: good stands of timber of a single species across
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the area, steady demand for timber, the use of mechanical extraction of
timber, easy transport, practices of sound forest programs access to market
and managed to provide a relevant conclusion.

However, some of the candidates in this group provided a partial
introduction, explained few points with good reasons on why timber
harnessing is easier in temperate countries than in humid regions, and
provided a relevant conclusion. Some were able to provide a correct
introduction, few reasons of timber harnessing in temperate countries, and
incomplete conclusion while, others were able to provide partial
introduction, gave reasons for timber harnessing with a conclusion.
Strengths and weaknesses of their points made their marks to vary. Extract
2.6.1 illustrates a sample of a candidate who performed well in this
question.
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Extract 2.6.1 Sample of a good response
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Moreover, the candidates who scored from 7 to 11.5 marks show moderate
understanding of the concept of timber production. Some of the candidates
were able to give a correct introduction of both timber harnessing and
temperate countries, explained incompletely the reasons for timber
harnessing being easy in temperate countries, and provided a conclusion.
Some managed to provide a definition of timber harnessing only, explained
few reasons for timber harnessing in temperate countries, but without a
relevant conclusion. Others managed to provide partial introduction, a few
reasons with partial explanation of timber harnessing in temperate countries
and gave relevant conclusion. Variation in marks was influenced by the
strength of their responses.

On the contrary, most of the candidates who scored from 0 to 6.5 marks
showed limited knowledge of timber production in the temperate countries,
as a result they responded incompletely to the question. They provided few
relevant points, and without a conclusion. Some of the candidates provided
a partial introduction, failed to give reasons for timber harnessing in
temperate countries, and with incomplete conclusion. For example one
candidate wrote: availability of water in the temperate forest region, good
climatic condition in the temperate forest, good soil in the temperate
region, inadequate pest and diseases in temperate region, topographical
factors and biotic factors. Some failed to give an introduction, provided
few reasons without any detailed explanations while, others failed to give
introduction, they mixed up correct and incorrect answers without relevant
conclusion. The difference in their marks was caused by the strength of
their responses.

However, the candidates who scored a 0 mark lacked knowledge of and
skills in timber production. Many candidates in this category provided an
incorrect introduction of timber harnessing in temperate countries, and also
failed to give reasons for timber harnessing, and provided irrelevant
conclusions. For example, one candidate explained the factors for the
growth of plants or forests in temperate regions. He/she wrote: presence of
good soil, availability of good species, presence of moderate climate, good
geographical relief, presence of river catchment area and plenty of labours
instead of reasons on why timber harnessing is easy in temperate countries
than in humid regions. Extract 2.6.2 is a sample of such poor response.
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Extract 2.6.2 represents a sample of incorrect answers

2.2.7 Question 7: Environmental Friendly Tourism

The question required the candidates to examine six factors that hinder the
development of the tourism industry in Tanzania. The total marks allocated
for this question were 20.

This question was among the most attempted one as it was answered by
99.5% of all the candidates who registered for this subject. The general
performance in this question was good since 92.7% of the candidates
scored 7 marks and above. An analysis of performance on this question
shows that 44.3% of the candidates scored from 12 to 20 marks, 48.4%
scored from 7 to 11.5 marks, and 7.3% scored from 0 to 6.5 marks. Figure
16 illustrates this performance.
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48.4% m12-20

Figure 16: The Trend of the Candidates’ Performance on Question 7

The candidates who scored from 12 to 20 marks were able to transfer the
knowledge of the subject matter. The ideas were well aligned to the
demands of the question. For example, some of the candidates were able to
give a correct introduction of the tourism industry as the process of
facilitating the movement of people for leisure, education, business,
involving hotels and accommodation management and travelling package.

They were able to examine six factors that hinder the development of the
tourism industry in Tanzania, with a high level of critical analysis,
including different points of view which were relevant such:
Presence of high population growth, inadequate capital,
lack of proper managerial skills, limited identification and
advertisement, poor accommodation and transport, social
unrest/deviant behavior, decrease of valuable animals, lack
of awareness among the local people, weak implementation
of government policies, limited focus to other tourist
attractions and competition from other sectors.

Also, they ended up with a relevant conclusion. Some of them were able to
provide a relevant introduction, explained six factors that hinder the
development of the tourism industry in Tanzania, but failed to give a
relevant conclusion. Some gave incomplete introduction, explained clearly
the factors that hinder the development of the tourism industry in Tanzania
but without giving a conclusion. Others managed to define the tourism
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industry in the introduction, explained in detail few factors that hinder the
development of the tourism industry in Tanzania, and provided a relevant
conclusion. The strengths and weakness of the candidate’s responses led to
the variation in scores from 12 to 20 marks. Extract 2.7.1 is a sample of

such a good responses.
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Extract 2.7.1 indicates a sample of such a good response
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the candidates who scored from 7 to 11.5 marks showed
moderate understanding of the concept of environmental friendly tourism
especially on factors that hinder the development of the tourism industry in
Tanzania. Some of the candidates in this category provided an introduction
of the tourism industry, examined incompletely six factors that hinder the
development of the tourism industry in Tanzania, without concrete
examples but provided relevant conclusion. Some of them managed to give
an introduction of tourism industry, examined few factors that hinder the



development of tourism industry in Tanzania and provided incomplete
conclusion. Others provided a partial introduction, and examined
incompletely the factors that hinder the development of the tourism
industry in Tanzania with concrete examples without a relevant conclusion.

Moreover, the candidates who scored from 0 to 6.5 failed to transfer their
knowledge of the subject matter. This led them to score low marks. For
example, one candidate provided a relevant introduction, but with incorrect
points and relevant conclusion. He/she wrote the factors for the
development of the tourism industry instead of the factors which hinder the
development of tourism: availability of good transport and communication,
good climatic, technology, good government support, availability of
political stability, attractive landscape, availability of social services,
social and political stability and good government policy.

Additionally, some candidates in this category failed to meet the demands
of the question. Their explanations were both not clear or lacked depth and
scope of coverage. These candidates did not seem to understand the
question which was specific on the development of the tourism industry. As
such, they provided an incorrect introduction of the tourism industry, failed
to explain the factors that hinder the development of the tourism industry in
Tanzania, and provided an irrelevant conclusion. Extract 2.7.2 is an
example of a poorly written response.
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Extract 2.7.2 is an example of poor responses

In extract 2.7.2 the candidate provided relevant introduction but explained
factors that favour the development of the tourism industry in Tanzania,
instead of factors that hinder development of the tourism industry in
Tanzania.
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2.2.8 Question 8: Sustainable Fishing

This question required candidates to analyse six strategies of fish
conservation practised in the world. The total marks allocated for this
question were 20.

The question was attempted by 65.9% of all the candidates. The general
performance in this question was good because 85.3% of the candidates
who attempted this question scored 7 marks and above. Data analysis in
this question shows that 45.6% of the candidates who answered it scored
from 12 to 20 marks, 39.7% scored from 7 to 11.5 marks, and 14.7% scored
from 0 to 6.5 marks. Figure 17 illustrates the performance on this question.
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Figure 17: Trend of the Candidates’ Performance in Question 8

The candidates who scored from 12 to 20 marks showed an understanding
of the concept of sustainable fishing, especially on the strategies of fish
conservation measures in the world. For example, some candidates were
able to give correct introduction as fisheries and fishing grounds have been
declining in the world due to overfishing, water pollution by chemicals
from plants and factories. They provided six strategies of fish conservation
measures practised in the world as follows: restocking of overfished water,
forbidding indiscriminate fishing, artificial fertilization of eggs, protection
from pollution, international agreement on fisheries boundaries, researches
in the world fisheries, licensing fishermen so as to control their number and
they provided relevant conclusion.

The other candidates in this group provided a partial introduction, analyzed

six strategies for fish conservation measures incompletely and ended up
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with a relevant conclusion. The strengths and weaknesses of the

candidates’ responses led to the variations in marks. Extract 2.8.1 is a
sample of good responses.
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Furthermore, the candidates who scored from 7 to 11.5 marks showed a
moderate understanding of the concept of sustainable fishing, especially on
fisheries and fishing ground. However, they were not able to score above
11.5 marks due to lack of good coverage of the sub-topic, and generalized

Extract 2.8.1 sample of good response

responses.

Moreover, the candidates who scored from 0 to 6.5 marks did not show
competence in the concept of sustainable fishing especially, on fisheries
and fishing grounds. Many of the candidates lacked knowledge on how to
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conserve fishing grounds, instead they focused on how to preserve fisheries
as a result they failed to score high marks. For example, some of the
candidates were able to provide a correct introduction but failed to analyze
six strategies for fish conservation measures practiced in the world because
they mixed up fishing preservation with fishing conservation by writing:
through smoking, use of refrigerators, burning, freezing, salting, drying,
roasting and canning.

On the other hand, some of the candidates in this category provided an
irrelevant introduction of fisheries and fishing ground, irrelevant strategies
for fish conservation measures practised in the world by writing: ignorance
of fish monger, low support of a government, water pollution and bad way
of fishing and he/she ended up with irrelevant conclusion. Another
candidate explained the contribution of fish conservation, instead of
strategies for fish conservation as he/she wrote: employment opportunity,
improvement of social services, encouragement of H.E.P station,
establishment of trading activities, stimulates other sector and lead to
enough source of food. Extract 2.8.2 is a sample of such poor response.
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Extract 2.8.2 sample of such poor response
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3.0

PERFORMANCE OF CANDIDATES IN EACH TOPIC

The analysis of candidates’ performance in each topic shows that,
candidates performed well in 12 topics out of 14 as they scored 35 marks
and above. These topics were Topographical Map Interpretation (88.5%),
Photographs Interpretation (94.5%), Water Masses (85%), Space
Dynamics (94.7%), Position Behaviour and Structure of the Earth (94.9%),
The Dynamic Earth and Consequences(95.1%), Study of Soil (83.9%),
Field Research Strategies (77.2%), Sustainable Fishing (85.3%),
Agricultural Development (95%), Population and Development (80.4%)
and Environmental Friendly Tourism (92.7%). Further data analysis shows
that in this year’s examination there was no topic which had an average
performance. However, there were two (2) topics in which the candidate
performance was poor. These topics were Simple Survey and Map Making
(27.3%) and Sustainable Use of Forestry (26.1%) as illustrated in Figure
18.
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Figure 18: Performance of Candidates on each Topic
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4.0

4.1

4.2

CONCLUSION AND RECOMMENDATIONS

CONCLUSION

As it has been observed in the analysis of questions, the performance in the
Geography subject for Advanced Certificate of Secondary Education
Examination (ACSEE) 2019 was good. The analysis shows that the
candidates’ good performance was caused by the ability of the candidates
to identify the demands of the questions, the candidates’ sufficient
knowledge of the subject matter, and proficiency in the English language,
as well as computation and drawing skills. On the contrary, candidates with
weak performance revealed lack of these skills.

RECOMMENDATIONS

Basing on the observation made through the candidates’ item response
analysis (CIRA) report, in order to improve the performance of prospective
candidates in this subject, the following recommendations are made:

@ Activities outside the classroom should be encouraged and
promoted. In Geography, a student learns better if the teaching is
supported by concrete materials that give the student first-hand
knowledge and experience. For example, when teaching filed work,
a trip to a riverside, factory, forest, some specimen of seeds, fruits
or vegetables, rocks and minerals would facilitate concrete
illustrations in Geography lesson and will improve students’
performance.

(b) Teachers should help learners to acquire the required knowledge
and skills in all topics so that they can develop competencies in
answering their examination questions especially on: drawing
physical features, sketching maps as well as arranging their work in
a proper way. For example, question 2 in Paper One, most of the
candidates skipped it, and those who attempted it performed
unsatisfactorily due to their inability to interpret it correctly, as the
question required the candidates to have knowledge in carrying out
asurvey.

(c) Classroom teaching and learning process should be endowed with
practical activities. It is always believed that students learn better if
the whole process is supported by concrete materials that give
learners the experience and hands-on knowledge.
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(d) Teachers should put more efforts in teaching the Simple Survey and
Map Making topic whose performance is keeping on deteriorating.
This topic is best taught in the field so that students will understand
easily, and hence be aware of the correct uses of survey instruments.

Appendix
Comparison of Candidates’ Performance in Topics between Year 2018 and
2019
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